R AZ / Components

No. ¥ / Part name | 8 / Pcs #E / Material - RELEE / Color-Finish
. _ 1 ZAavkRIL 1 7 ILEHR A1100P YN =T LRAL, 753997 WA
* JLRITEBRDBHARICHYMTITTEET, Front panel Aluminium A1100P Silver anodized , Black anodized
* Adhesive rubber feet in cluded. 2 |yFisEn 1 7 ILSAR A1100P YNN=TLRAY , 75997 A
Rear panel Aluminium A1100P Silver anodized , Black anodized
6 3 [garIL—n 2 TILSHHIH A6063S-T5 Y-k TR
Side frame Extruded aluminium A6063S-T5 Gray painted , Black painted
JAavkILb—L 2 TIVEHRH A A6063S-T5 TV-BE ThBE
Front frame Extruded aluminium A6063S-T5 Gray painted , Black painted
YFIL—L4 2 TV A6063S-T5 YN=TFI3Ab
Rear frame Extruded aluminium A6063S-T5 Silver anodized
_EHsX—/ Top cover 1 7 JLEHR A1100P / Aluminium A1100P | 34 My L—3%E | 75993 % / Light gray painted , Black painted
T 75/3— / Bottom cover 1 7 JLER A1100P / Aluminium A1100P | 34/b)'L—3%E | 759928 % / Light gray painted , Black painted
a—F—Jnavy 2 FIEH ¥R ADCI2 U 7R
Corner block Diecast aluminium ADC12 Gray painted , Black painted
V724—k 2 BIAMEABSHIRE ULI4V-0 V=, 7399
Rear feet Flame-resistant ABS UL94V-0 Gray , Black
I L\ /B / Rubber feet 4 R4 / Polyurethane 7'59% / Black
HAFE R (M4 x 6 H5) 4 #% =ffiyni—+
Screw (M4 - 6 Countersunk) Steel Trivalent chromate
HAFTER (M4 x 8 +R) 8 % =ffiynr-+
Screw (M4 - 8 Pan head) Steel Trivalent chromate
HAFE R (M4 x 10 /3 F) 4 #% =ffiRsni-+
Screw (M4 - 10 Binding head) Steel Black trivalent chromate
am/Title
BARMINTFERIR F—ILT LSV RT L —2 o]
B4 (BIFEREDO) / Color type (End of product numberd) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. DESKTOP ENCLOSURE I
28 / Code JNHRJL / Panel FTHIN—/ Top - Bottom cover HARIL—L / Side frame 2 /Approved #&[X/Checked X /Created FIF /Product number >
G 2 JLiN— / Silver F4+4J'L— / Light gray J'L— / Gray MO133-26-281
B J5v% / Black I5v4 / Black I5v% / Black iR ES Eaza) i\ s
BS S JLIS— / Silver 594 / Black IS4 / Black fERH/Date  2020/03/05




2 B-B(1:4)
o
N
)
T
o
N
230
280

1325

6.1

HARIL—L1 / Side framel

AV kI —L1 / Front framel

260

- w

116.5

233

)7L —.\1 / Rear framel

3.5

A-A(1:4)

175

BH3ti% / Max dim.

255

BH#ti% / Max dim. 1275

C-C(1:4)

A$~Ti%k / Max dim. 239

1J77L—L2 / Rear frame2

116

HARI7L—12 / Side frame2 230

702 bIL—L2 / Front frame2

20.6

20.6

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a4/ Title
DESKTOP ENCLOSURE

o]

#2/Approved

iR

%[/ Checked

T

R/ Created

A

24 /Product number RE/Scale
MO133-26-28[1 1:4
fmB/Date  2020/03/05 2 /8




082 ks8%)L / Front panel

HZ~ti% / Max dim. 116.5

1)J7 /54 J)L / Rear panel

$~ti% / Max dim. 116

7
*

o]

AH#h~T% / Max dim. 230

R / Front side

A#h~ti% / Max dim. 230

R / Front side

RE—HMa
Surface protective film side

RE—HMa
Surface protective film side

1225

122.3

233

ZEM / Back side

238.5

Z M / Back side

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

R4/ Title
AR YT IR

Front panel , Rear panel

o]

£8/Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

H133 - W260

RE/Scale
1:2

{ER B /Date 2020/03/05

3/ 8




2475

2-g85 4-B45
1) )
78> Mal / Front side X =
5
35 167.5
20 M| / Front side

2-4.2

120

102.5

5.5
) Lt_,j 6;‘:5
11

._

——Ine

=
\|
>

1) )
o) 0

H AR IL—L1 / Side framel

e

8 4]
o 7o)

= I W=

AR —L12 / Side frame2

w4/ Title
TAKACHI] #XR#SHFERTE HARTL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Side frame
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Scale
H133 - D280 13
iR x E3Z o
i 478

{ERL B /Date 2020/03/05




30

233

o) o)
L% A9
223
o) o)
\¥ \Y

R4

20

2-M4RHY S}
2-M4 Countersunk

AV bkIJL—L1 / Front framel

78> bkJL—1s2 / Front frame2

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
JaVkIL—L4

Front frame

o]

7R/ Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

W260

RE/Scale
1:2

{ERL B /Date 2020/03/05




20

241

Ens

ens

M4

I ——

1)727L—L1 / Rear framel

|=i

1J72L—12 / Rear frame2

m#/Title
BREUINTFERTE “ JFIL—L O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Rear frame
#/Approved %[/ Checked #[/Created 24 /Product number RIE/Scale
W260 1:2
iR ES Eaza) 6/ 8

{ERL B /Date 2020/03/05




6.75

15

249.5

fr—

229.5

256.5

R4.5

AH#ti% / Max dim. 2175

A$~Ti% / Max dim. 239

12

6.5

am/Title
TAKACHI| #HXR#ShFEHTE Fha— @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
7 8/Approved X/ Checked X /Created | E!F/Product number RIE/Scale
W260 - D280 1:25
iR x Eaza)
t 77/ 8

{ERL B /Date 2020/03/05




6.75

15

249.5

fr—

229.5

256.5

R4.5

15.5

I
~
~
£
©

x

©
=
~
H
i
R
L

A$~Ti% / Max dim. 239

12

6.5

[TAKACHI) #=t&itshFBHTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

G/ Title
Thi—

Bottom cover

o]

7R/ Approved

R

X/ Checked

T

X /Created

A

FIF /Product number

W260 - D280

RE/Scale
1:25

{ERL B /Date 2020/03/05




